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Note : This paper contains FIFTY (50) multiple-choice matching questions, each
question carrying TWO (2) marks. Attempt All the questions.
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1. Which of the following is not

covered by IPR ?

(A) Geographical Indications

(B) Industrial Designs

(C) Standards

(D) Copyright

9 Which of the following can be
identified with Ranganathan’s Fifth

Law of Library Science ?

(A) Providing Reference Service

(B) Providing Open Access

(C) Providing Analytical Entries

(D) Acquiring New Books
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Which University in India was the
first to start a bachelor’s degree
programme in Library Science ?

(A) Madras University
(B) Banaras Hindu University
(C) Delhi University

... (D) Punjab University

(C)
. (D)

(ﬂj

(id)

(zid)

(fv)

Lib.

L (A)

Which of the following is a primary
document ?

Science

(B)

International Dissertations
Abstract

Science Citation Index
Biological Abstract
Match the following :

Biographical (@) Reader’s Digest
Source Great World
Atlas

Geographical (b) Asian Recorder

Source

Indian Books in

Print

Who’s who of
Indian Writers

(&) @ (@), Gi) (a), (iii) (c), (iv) (b)
B) @) (), (i) (@), GED) @), (iv) (B)
(C) (D) (a), (D) (b)), (ii}) (e), (iv) (d)
(D) @) (d), (i) (), (idi) (a), (iv) (b)
& In. Sc.-II

Bibliography (c)

News Digest (d)

4
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(iii)

(iv)

T

MRl s41 [QeqRenayui Al way
dAdz  2is  qudel 3] HlY eyl
UOHIAEY UF S U] ) ?

(A) Mol y[RaR{d

(B) ey [8g yMaBa

(C) [Eedl yRaRid)

D) e yRaBRig

izl wabis yaw sy @ ?
(A) [Qsu+

(B) drexduret Sxda- RNeapse
(C) AU WY2u4 $-3a

(D) sudidiowse MNopse

A 2wlal @sefia A -
DAARALMS (@) AsAsi5F2e 2

¥lid qAes ey
SIEN P b)) Ay 3583
2ld

ULHYRA (0 Slsun s §v

M2
AHRAR HAY @) g ¢ 08
Ssur el
(&) (&) @), (i) (a), i) (e), (iv) B)
B) @) (e), @) (@), (i) (@), (i) B)
(©) @) (@), Gi) B), Gii) (), (iv) (@)
D) @) (), ) (e), (iid) (@), (iv) (b)




ERIC database is a :

(A) Numeric database

(B) Bibliographic database
(C) Full Text database

(D) Bibliographic and Full Text
database

Which of the following is true of

Referral Service 7

(A) It brings users and services

together

(B) It gives pinpointed information

to users

(C) It provides exhaustive

information to users

(D) It provides current awareness

to users

‘Aslib Proceedings’ is available as
part of online subscription to the

database of :
(A) Elsevier
(B) Thomson Reuters
(C) Blackwell

(D) Emerald
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(A) ANeudlx (Elsevier)

B) didud 2y@d (Thomson
Reuters)

(C) ¢dsde (Blackwell)

(D) »42UeS (Emerald)
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9. In MARC 21 format 2xx code fields 9.
denote :

(A) Subject Headings
(B) Control Information
(C) Author
(D) Title
10. Which of the following is not

concerned with bibliographic 10.

descriptions ?

(A) ISBD

(B) AACR

(C) Bibliographic classification
(D) FRBR

11. Arrange the following steps in
thesaurus construction in a logical

order :

(1) Selection of terms

(2) Understanding the subject
(3) Analysing the terms

(4) Recording the terms

(5) Alphabetical thesaurus
production

(A) 1,2 3, 4,5
(B) 2,1,3, 4,5
(C) 1,2, 4, 3,5
D) 2,1,4,3,5
Lib. & In. S¢.~II 6
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(A) »uS»us{lSl (ISBD)

(B) a2 (AACR)
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(A) 1,2 3,4, 5

(B) 2,1,8 4.5

(C) 1,2 4,3 5
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12.

13.

14.

LC classification is : 12.

(A) Almost faceted scheme

(B) Almost enumerative scheme
(C) Purely enumerative scheme
(D) Freely faceted scheme

Which of the following principles of

administration emphasizes team

13.

work ?

(A) Divison of work
(B) Esprit de corps
(C) Unity of direction
(D)

Equity

CPM is an effective :

14.

(A) Method of knowledge

organisation

(B) Project Management

Technique

(C) Budgeting Technique

(D) Data Collection Technique
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15. Open Systems Interconnection was

16

L

17.

an effort to :

(A) Standardize networking

(B) Provide Internet connectivity

(C) Provide E-mails

(D) Standardize bibliographic

description

 Which of the following is an image

file format ?
(A) GIF
(B) doc

(C) MP3

(D) FLAC

Joystick is :

(A) Input device
(B) OQutput device
(C) Storage device

(D) Processing device
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(A) DySs (GIF)

(B) Si5 (doc)

(€) M3 (MP3)

(D) $4% (FLAC)

Auels (Joystic) 4 & ?

(A) S+ye slady

(B) »iBeye Slaisy

(C) @y sludy

(D) MiARL Slaidy




19.

20.

18.

DOI is essentially a standard for :
(A) Marketing on the Internet
(B) Publishing on the Internet

(C) Persistently identifying a piece
of intellectual property on the
Internet

(D) Protecting a piece of

intellectual property on the
Internet

Which of the following service/
gystem is related to food science ?
(A) AGRIS

(B) INIS
(C) IFIS
(D) ENVIS

If the value of even one datum is
in extreme as compared with the
remaining data, it can substantially
affect the value of :

(A) Mode
(B) Mean
(C) Median and Mode

(D) .Mean and Mode
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(A) 3l (AGRIS)
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21. Indian Input Centre for INIS is :

22.

23.

(A) TIFR
(B) BARC
(C) ISRO
(D) SAC

Which of the following scales
should be used to measure a
student’s preference for a sample

of 10 books ?

(A) Nominal Scale

(B) Ratio Scale

(C) Ordinal Scale

(D) Interval Scale

What is the full form of PPBS ?

(A) Planning Programming

Budgeting System

(B) Performance Planning

Budgeting System

(C) Programme Planning

Budgeting System

and

(D) Budget  Planning

Programming System
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1AMl G-l (INIS) o Se1ye 3es 59
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(A) Zlaudusaz (TIFR)

(B) U$ (BARC)

(C) $uUL (ISRO)

(D) A5 (SAC)

10 Ycsidl Ayl Hi2 [Qeilli-u
URSIRHU  HIuA sAl Wi
AlAnidl sul k-l Guyio s34l
We5ul ?

(A) -iilded ¥4 (Nominal Scale)
(B) 224l ¥4 (Ratio Scale)

(C) ii[E44 e (Ordinal Scale)
(D) ¢-erad ¥ (Interval Scale)

Ylell=ln (PPBS) «f 4 UM g
9 7

(A) ellor wiauslol e dlor Alzen
(B) uasiayy rel-la ogdlog Alaey
(C) MM il o1wdlal e

(D) o2 vl 21 il Ylzen




24. RRRLF is established to develop :  24.

(A) Academic Libraries

(B) Special Libraries

(C) Digital Libraries

(D) Public Libraries
25. Unix is :

(A) a programming language

25.

(B) an operating system
(C) storage device
(D) hardware part
26. What is the full form of ISDN ?

(A) Integrated Standard Digital

Network 26.

(B) International Standard Digital

Network

(C) International Services Digital

Network

(D) Integrated Services Digital

Network
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27. Match the following : 27.
(&) CDS/ISIS (e¢) DESIDOC (&)
(i) Sanjay (b) NISCAIR
(i) Granthalaya (c¢) Infotech (i)
(iv) Libsys (d) UNESCO (iii)
(A) @) (@), (&) ®), (i) (e), (v) (d)  (v)
(B) @) (o), i) (B), (i) (a), (iv) (d)
(C) @ (a), (D) (a), (iHi) (e), (iv) (B)
@) @) (d), (D) (@), (ifL) (B), (iv) (c)
28. The full form of PERT is :
(A) Political, Engineering Reform  28.
Tools

(B) Planning Employees Review

Technique

(C) Programme Evaluation and

Review Technique

(D) Performance Evaluation and
Reporting Technique

29. For
“Bhajans of Mira” set to music by
different composers and sung by
Lata Mangeshkar, the main entry
for the cassette should be under -
(A) Mira
(B) Bhajans of Mira

(C) The first named composer

(D) Mangeshkaf, Lata
Lib. & In. Sc.-I1 12

(A)

an audio cassette entitled 29,

A3 »ulen Rsevld g :

AlslAw/ (@) &dlsis
SR AU STAN,

A%y (b) ~llusz
Aley () ©-isi2s
lofly (d) Y~asi

(A) (i) (a), () (b), (iiD) (), (iv) (d)
(B) @) (e), (i) (b), (iii) (@), (iv) (d)
(C) ) (d), (ii) (a), (iid) (c), (iv) (B)
(D) Q) (d), (i) (@), (&) (b), Giv) (c)
4é (PERT) « Y3 - :
Uildsa, Al s
2

waldlol, Sudidly ey 25-lsu

Wi Sdeyslad A ey
255

Uglfy  Sdeyalud  -s
uidlor 25+l

AL el Al s 32, Fui
%el el AMAsiA (sdind) wyafls
Ae 534l 9 21 Al »idlus A suul
8 di d el you g s el
o3l ?

(A) Hlzi
(B) Hli-l ool

(B)
(C)

(D)

(C) M¥H 5¥Yip-l ~unl
(D) Hidlasz, ddl




30.

31.

32.

In a classification scheme for
if
programmes are arranged by name
(e.g. Dbase, Lotus, Wordstar) rather

computer programimes,

than by function (e.g. DBMS,"

Spreadsheets, Word processing)
which canon of classification is

violated :
(A) Canon of Differentiation
(B) Canon of Relevance

(C) Canon of Ascertainability
(D) Canon of Permanence

In the binary system of numbers,

101 represents the decimal number :
(A) 5

(B) 101

(C) 3

(D) 2

The memory capacity of a computer

is measured in :
(A) Bytes
(B) Hertz
(C) KBPS
(D) Chips

Lib. & In. Sc.~II
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30.

31.

32.

sayzy diaud Hie-l adllsrw vwgld
glal 523 MisuHA a5l (el
Slolnuy, Ws ey, ad WAA)
A oed d-ll Aun (Sleisy, diex, as-
w1z) ol ollsctati 20 di aols9i-t
sul Rugia-l ofor a8 ?

(A) (Bt Y
(B) Midddld ¥yt
(C) [RaQudid Yt
(D) RERdld Y

dot-l ouaAl Wemui, 101 A sl
eaial Aotz suld & 7

(A) 6
(B) 101
(C) 3
(D) 2

syl Wl andal (A 2ARA)
o diud i wy § 7

(A) “Heu (Bytes)
(B) ¢é» (Hertz)

() ellAn (KBPS)
(D) A1t (Chips)
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33.

34.

35.

A retrieval system retrieves a
total of 50 documents. Out of these
30 are irrelevant, another 10
documents which were relevant
were missed.

The precision ratio for the query
would be :

(A) 40
(B) 20
(C) 60
(D) 80

Which of the following statements
about chain indexing is not true ?

(A) It depends on the classification
scheme

(B) It was developed by Dr. S.R.
Ranganathan

(C) Only one of the entries
represents the complete subject

(D) It is an example of post-
co-ordinate indexing

A library has the following sections ;
Children’s Section, Periodical
Section, Audio-Visual Section,
Braille Section.

Which of the following criteria
have been used for depart-
mentalization ?

(A) Function and Customer
(B) Customer and Product
(C) Function and Product

(D) Function, Produet
Customer

and
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Yrit Wl ugld g2l g4 vo uAwi
Yl Ml 24l dHidl 30 wsi@d
9. o121 10 NAVL % Asifd edi uig
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(A) 40
(B) 20
(C) 60
(D) 80
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3
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(©) sid A Glux

(D) 514, Gluar i Gueiisdl




36.

37.

38.

If you are asked to arrange the
concepts of information, knowledge
and data in ascending order of
complexity, which of the following

sequencing is correct 7

(A) data-information-knowledge
(B) knowledge-information-data
(C) information-data-knowledge
(D) information-knowledge-data

Which of the following can be
considered formal channels of

communication ?

(A) Conference, Research Reports,

Theses

Research Reports, Correspondence,
Books

(B)

(C)
(D)

Journals, E-mails, Theses

Conversations, Electronic

Journals, Research Reports

Which facilities would you not
generally expect in a University

library 7

(A) Research carrels

(B) Interlibrary Lending
(C) Children’s Corner

(D) On-line Searching

Lib. & In. Sc.-1I
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38.
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qiledl, siq 24 2uaimAl-Hl
[Acuariaid d-l wl2adl wsi-
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HiRdl-Sal—stir
YRl —stri—s2l

Al izl vl 2iivalzs el
syl & 7

(A)
(B)
(C)
()

wse, Al  wdaldl,

Hel[Aeiy

(A)

Hallr vdaldl, ust-Mdslr,
Yacisl

(B)

(C) wxls, 5494, Helnein

(D) e, SAsgiFs or-deu, Adiun

vl

Rrraf@aenay daaydl s§ ylaal
e o el usi ?

(A) v 53

(B) id3 A4y Ggrel
(C) epu-[aeuat

D) 2l dAd- wis
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39.

40.

4]1.

Asa Dickinson was involved with the

library movement in :
(A) Baroda
(B) Andhra
(C) Punjab
(D) Bengal

Which person in the following list
is not associated with theories of

motivation ?
(A) Maslow
(B) Herzberg
(C) McGreger
(D) Hawthorne

Who among the following list did

not develop a model of

communication ?
(A) Shanon-Weaver
(B) Berlo
(C) Lasswell

(D) Lancaster

Lib. & In. Sc.~II
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L (Sslran sy ugm w8 sui

Asoudal edl :
(A) oRist
(B) i
(C) e
(D) oloua
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[Rigidl (theories of motivation) M8
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(A) HiRdl (Maslow)

(B) eddedl (Herzberg)
(C) HA5 AA (McGreger)
(D) &l (Hawthorne)
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(A) @-it-dla? (Shanon-weaver)
(B) odl (Berlo)
(C) dludd (Lasswell)

(D) @323 (Lancaster)




42 What is the relation between

Current Awareness Service (CAS)
and Selective Dissemination of

Information (SDI) ?

(A) SDI is one form of CAS

(B) CAS is one form of SDI

(C) The services are the same
(D) There is no relation

In an empirical research on the
effect of user education on library

use pattern, library use would be :

(A)

an independent variable

(B) a dependent variable

(C)

an intervening variable

(D) not a variable at all

. What is not true about Dublin Core

set of Metadata ?

(A) Dublin Core elements are not

repeatable

(B) It originated from Ohio

(C)

It can describe print as well as

*digital materials

(D) It has 15 basic elements

Lib. & In. Sc.-1I
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45.

47.

In a research on information needs 45.

of Chartered Accountants, a
questionnaire is sent to every fifth
member on the official register of
Chartered Accountants. Would this
be :

(A) a random sample

(B) a stratified sample

(C) the whole population

(D) not a representative sample

Research design of a study should 46

not include :

(A) Hypothesis

(B) Methodology

(C) Scope

(D) Findings

Citation analysis cannot be used to
identify :

(A)

less used periodicals

(B) half life of periodicals

(C) journals with the highest

impact factor

(D)

journals with high subscription

cost
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47.

Yes MsiG-e-eu-ll wRdl wzlRud
Uzl AW, WS Bl 51Grerenril
AIBRHA 23 Y-l £is uium
UeA wsAladl Hiseauni sud 8,

T
(A) weles Ayl &
(B) lRgd 3yl &
(C) dMAU uHelw
D) ulalA@E Ayl -l

oAl Al Al ([Bas) «i
Alel uHId udl A=l ?

(A) ulyseu-
(B) dudla wal
() ciuumiﬁiat
D) s

LA e 2 Bare yussal
Guuist 53| usidl -l :

(A) sl Guyell wmlast

B) WHAsHL ei5-a1ds

(C) (o §3U52 3523 Gzladl wHAsl

G2y dqdloH-[EHd  w1ddl

ALH[A s

(D)




48, According to AACR II, if a book

49.

5().

has been edited by four persons,
the main entry should be made

under :
(A) First Editor
(B) All Editors
(C) Title
(D) First 3 editors

In a classification scheme the

.g'roups — Special Libraries, Medical

Libraries, Hospital Libraries —

represent :

(A) A Facet

(B) An Array

(C) A Chain

(D) A Characteristic

In the main class religion in Colon
Classification, the different geligions
are arranged according to the

principle of :
(A) Later in Ewvolution
(B) Later in Time

(C) Increasing Complexity

(D) Literary Warrant
Lib. & In. Se.-II
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48.

49.

a0.

a0 Al a0 I Wk, s 3y ¥
Az AlBdui gl dAwld sani
viledl iy d M2 3o Ay sul

HYLL 2iddld ellgauml el ?
(A) MUY HUles
(B) ®al % Awesl
(C) vuL (a1deq)
(D) MuM A8 AWEes

qallsee-l uglmi—@Alre dwaul,
A8lse ald@?l, eixdlza d@rda -
ol g sald & ?

(A) M5 (Facet)
(B) "il3d (Array)
(C) ¥™él (Chain)
(D) @@Bsdl (Characteristic)

sl sldlBaqui Yoy qof iy
el el auld dA-unidl su Rigid

Yool olisadidi vl 8 7
(A) Gosila-l s34
(B) AMULsH
afdl wdl #lRadl

alaleus »uee

(C)

(D)




ROUGH WORK
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